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Instruction for the Question Nos. 26 to 30 - |
Read the following Passage carefully and answer the following questions that follow:

We in India have our own special problems. No one can deny that some of them are of a serious nature
and must be attacked with Vigour and determination, Our national abjectives have been defined clearly.
We aims at providing every citizen with the basic necessities anfl complete freee Wﬂfﬂ : qﬂhq{,lﬂi SF
her own choice."We aim to create a democratic society, strong and free in which every citizen,
Irrespective of his religious beliefs, will occupy anequal and hono
opportunities for growth and service, We alm at €
Inequalities of status and wealth, We are g -

tainty about our national

»0me of our problems can be handled onlyby il “goal | ndian free fram 7
strong people.

25, The underline ward in the passage ‘vigour' means -

81 physical tension

(&l loose temper

{d  force
30 What is the synonym of the phrasal verb ‘daingay 8y with’ used in the passage?
) abolish ) doingwith
(€l remain forever B eriste

=\ (9} She s being given a bull dog by someane,

?ﬁ:ﬁ A bull dog was given to her %-

The Air indla._.

o vy _
wEOncessional tickpts theses e

81 g jesuing Il:i.ESI-lES i

Ll istued . huﬁd

Transtarm the followi B Simple spnt b :

‘s Mmple sentenea into cg =

He adem tied his mistake PﬂplE‘x sentenm

L) e admitted hat he was | A

i i | Il Y3 Mistaken, "b] Hi admmﬂ‘d {5 ] matiﬁa a mistake.

(11 ad & was I'|"-.1k||1ﬂ a rniﬂtak
i,
|A-2-24] 157103

(d)  He admitted that he had made a mistake.
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34. select the correct indirect speech of the
I's2id to him, “Let us 80 out for a wal "
‘@ | suggested him that they should go out for 4

Biven sentence -

(b) | requested him that we should go out for a

‘walk, P~
-  walk
() 1told him that they should go out for 5 walk, ﬁmu | suggested to him zhatw;iﬁﬁf"
‘ WI__ Inf_the Iluwing Is correctly punctuated? . ‘-wﬁf‘ﬁy‘zﬁ: v

O (5 What a beautiful painting -did you paint it!
* BB What o beautiful painting! Did you paint it?
osite in mea&a.ﬁf' the given word.

()  Advance

” Ehum tha aun‘ect one which best expresses the riganing
: \ of this company.

B)  the least paid employee
t'. @) an unimpartant person
s the mediing of the underlined word of the sentence given
" -

{b)  Bias

() Training

- ng statement and choose th ‘
T4 “ |
is used - i

;:ET:::;E an abrupt stop of change of thought

h ed subject

i () To resume a scatter o

} e ﬁﬁ:“‘ ( ' I Neither (1) nor (1)

' () Both ()andill |




e

41. Find the odd one from the given alternatives - fad T et ¥ Rmw gAY — ’
1

I

|

{i?} ﬁvﬂn (b) Joka (a) AXCZ oka
L (d) FRHT (¢} TBVD (d) FRHT
Blind and not blind is an example of - 42. afey aff afer +E e SEET g -
(a) Qualitative data () Quantitative data (@) orer @i (0) D e

(c) Both (a)and (b)  (d) None of these (¢} (a) afiX (b) &Tl idlﬁ'@fﬂﬂﬁ :

43. \Which of the following is determined with the 43 3[Ad fory Pt A A e frafor 3 HEW

help of histogram? ol 87
(@) Arithmetic mean (b} Median (@) AT A (b) wTfexnt
X lH! s '{n] qATTD (d) ENICHER niea

a4, ngﬂuﬁuﬂm&ﬂﬁmﬁmﬁﬁﬁmmm
uftquigmmaﬁmwr-ﬁwm

mﬁﬁaﬁﬁmﬁ?ﬂwﬂﬁ,ﬂ‘rw 11 Negorl

- Tt
(@) 950 (b) 9.48
- lBass (d) 8.63
45, s ey ¥ b e 1 EEE 100% 1 TR

S, s e A g a -
- (&) 200% (b) 141%
(d) 100%

1':1+v:iiue of cylinder A is 3 times 0 o *qﬁtﬁ n 1 SV, dE B @ S @1
volume of cylinder B, then value of nis- =Y. 1 n T A E —
(@ (b) X (b} 4
ek @ 2 @ 2
ey 3 2 2
o Sy

3
4?-qﬁ4iﬂﬂﬁﬁ4ﬂﬂ25%ﬁﬁﬂﬁiﬁm,
ﬁ'&ﬁféﬁ%ﬁiﬁ?ﬁﬁmmﬁmﬁm

47

5] AT uRE 27
{a 36 (o) 42
ic} 58 {d) 62

5.y P A S A W W B
aqq{aﬁﬁu@%ﬁmmﬁaﬁﬂgﬁﬂﬁ
Wﬁ,ﬁﬁm%dﬁmm%—

m of its digits is - ; \
(a) 9 (b) 10 @ i:’};g% o
o - 18 el
(c) 18 (d) No such number " fe) A
exists ﬁwﬁﬁ o
49. WCE of two numbers is 25 and other factors of  49. & el @1 HCF 25 ® ) aHD EFM;* L
: their LCM are 14 and 15. 5um of the numbers is - Tﬁ'ﬂ"s 14 3 158 | Rt & 4 ©
i (@) 700 (b) 725 (a) 700 (b) 725
{c) 750 {d) 775 {c) 750 d} 775
[AZ2A 1502 e T
TS T

A



50. -:h:_jmae the set of numbers from the altern atives
which is similar to the set (6, 36, 63) -
(@) (8, 64, 46) (b] (7, 49, 98)
(c) (94, 44, 5) (d) {11, 111, 34)
~ If the LCM and HCF of two polynomials are (x + 1)

(x* + 6x + B) and (x + 1) respectively and one of
the polynomial is x* + 5x + 4, then the other s -
(8) x! —3x 42 (b) %@+ 3% 42

) xl+2x+3 {d) x2—2x 43

52. if after selling 30 pens, the seller observes the
profit of sell price of 10 pens, then the profit

~ percentage s -
(@) 33.33% (b) 50%
(€) 66.67% (d) 200%

53 lftmdngsstart running in opposite directions
on a circular path of diameter 7 m with the speed
2.5 m/sec. and 3 m/sec., then how long will they
take to be at maximum distance?
{a) 1 second (b} 2 second
(©) 3 second (@ 4 second
54. |f X men complete a work in 40 days and after

Rﬂﬁfﬁ extra men 10 days are saved, then 30
‘men will complete this work in -

(a) 40 days (b} 20 days

(€) 20 days (d) 10 days

55. Three numbers are in the ratio of 3:4:5_» and their
HCF and LCM are 40 2nd 2400, respectively, then

the largest number is -

(b) 200
a) 40
L:l 240 (d) 360
= ertion (A) 'lﬁtErFEﬁunﬂlmrﬂnﬁuﬂ is a part
& of social intemcmnli- |
Reason ; rvival.
R) — It is necessary for su
a) h{'(l:}-and (A) are (b) Both (R} and (A) are
e sty true but (R Is not
mmrrﬂﬁmdl jll lnﬂﬂﬂn correct explanation .
expla A <
{c) T:.'::&}truﬂ but (R) 15 (d) (A) is false but
: ” true
s network promotes an

57. Which mmmunlcauunmunicate
individual  1© Enn:uiﬁ immediat
information only with
cubordinate?

(8) Gossip — €"?
(c) Wheel —chaih ___
‘A2 153102

(b) Cluster — chain
(d) Single — chail

confidential
e superior of

T:-]E-:'ﬂl %=

fygre] # @ st ® Ty B YEY W GG
(6, 36, 63) & THET & —
(8, 64, 46) (b) (7, 49, 98)
(c) (94, 44, 5) (d) {11,111, 84)
51, ufy @) agual @ LCM @I HCF PHIE (x+1)
(x + Gx + 8) T (x+1) & 3k &TH ¥ (& 9EIS
kz+5x+4ﬁ.ﬁﬁ@ﬂ3§wg—
(@) x2-3x+12 (b) x*+3x+2
() x?+2x + 3 (d) x*=2x+3

®

52. aft @ P 1 30 Ber 4e B Ara 10 STl
a%ﬁ?mmwmmﬁ?ﬂﬁ_rﬁﬂmﬁnﬁmﬁ
T —
la) 33.33% (b) 50%
{c) 66.67% (d} 200%
B3, af* a1 wa uH 7 AL = Al g 9o W
Rt fremet # 2.5 7 /9@vs ud 39/ wdve
2 fy A dre aror @wd g T eIy A
e 5X B H 9 o §e oY
(a) 1 U8 (b) 2 9&vE
(c} 3 FmTs (d) 4 ¥Fs
54. mifr X ATEH T HH B 40 fFF1 A @ Fed @
a5 AfRRET smed w9 10 BT 9 T
Brefl &, T 30 A SH HM H1 ON B
“ (&) qofest# (b} 30 =1 7
{c) 20f5=1 # (d) 10 f&=1 %

55. i+ W@ @1 SO 3:4:5 % U§ 994 HCF 4R
LCM HHEE 40 3R 2400 & 1 S wAN Fs

= B —
(a) 40 ib} 200
lc) 240 idl 360
é@ e (A) — smdnfms e JEifEe
AT & U WAT & |
HRY (R) — T8 FeWSTETT B0 AEIIE |

(R) afme (A) =141
Hell 3 (R), (A)
W il =T e

i) (R) & (A) &1
@ E [ (R), (A)
o] Hal RS AR

E Fedl &

(c) [ﬁ]méﬁﬁ{az (d) () T &
T # H-:L:% Sy

T g B W AR o ) @i ) s
T S s e el afteT w)

MO T & RO S &7
(8} 09 — e {h}ﬂnﬁ_m
(©) % — sire (o) yaet — s

—

L LT, T
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56. Given below are two statements, one is labelled @ A9 = Ut & e 3
:, [T i

as assertion (A) and other Is reason (R) - B AP (a)

Assertion (A) — Oral communication is a usefu! T @ ey (R) BT ey #
channel of communication, BT () — s T 0 T g
Reason (R) - Because oral communication has no Bl g £
I~ proof what has been communicated. PR (R) — ifdy ditfarsy il R —
Select 'E_e correct answer using the code given , ®, SEH S T |
below £ F5- 28 T A § vl g gy -
(@) Bm'rj_t]M and (R) are (B) Both (A} and (R) are lnl_ah'g (R) BT () (A) it (R) et
true and (R) is true but (R) is not R 3R (R), (A) |/ E g (R), (A)
correct explanation  correct explanation _f W o e T AR
of (A) of (A} & HIH] #
() (A) is true but (R)is (d) (A) is false but (R) is (e} (a) b g f (R) (d) (A) e & fig (R)
false true : T & Heg B

RS T, o W Rerfer & ey ger= 8],
St & o aiaRE e B fes @ A
B 9 g & 99 fow ey # o a2

58, Fnternan‘onﬂl':t that occurs, when people receive
infurméEnn Incompatible with their value system
is knowfas -

(@) CoghMive (b) Environmental : R : et
Dfr-gsuﬁunance Dissonance '@ SIRHAITRR ) e Ry ;
[€) Social Dissonance  (d} Political Dissonance (©) o fwfy o) e farefTfe

50. Which one of the following is not a type of  B0. Prrfirfr # o atm H UE g s
infermal communication network? THR Aede & e G827
(8} Probability (b) Cluster (a) s (0) 7y
] Gosgip td} Circular (e} e (d) T (TRu=)

B1. Given tgfow are two statements, one is labelled 61, i1 &1 e v T ¥ R 4 v @y TR
as assﬁﬁnn (A) and other as reason {R) - (A) 3R SAX D BRI (R) FET T B =
Assertion (A) - Clarity of communication s I (A) — WER T Wl iy duw

essentlal for effective W @ fory ammsas #)
communication process. @RV (R) — FIfD ST (i) v e
Reason (R) - Because adequacy and timing is not (s [Rereen) syl e ofiF
essential for effective % forg s d & |
—  Communication process. A1 f2n v we | uE e 'Fi'f'f-' ¥
Select gétrect answer using code given beloy, - (8l (A) SiR (R) @91 (B) {A) &% (R) &
f“?'i!,?_t A)and (R) are (b} Both {A)and (R) are T # e (R), (A) ey # g (R), (A)
truecand (R) is true but (R) is nat @ Wl WRET Al @ e S a6
ﬂ?ff;jd' explanation correct Explanéﬂﬂnr__ & Caail
ol of (A) | a4 & g (R) (@) (A) 7 # g (R)
(c) EAII Istrue but (R) is (d) (A) is false byt (R) is i f‘;’ﬁ & i ey &
dlse true

g2 it Rweat § 9 5l 0 Rrew @ gy

Sl STHEIE I HE B O A A
(b) TR W e

82. select one alternative from the following which
Is not a way of dealing with rUMoLrs

@) Providing facts - Ib) Reduction of cayges (AF TR SHEH i
€} Use of reliable " Concealment of fact (c) Mawaerita whet @ () e @ st
SOUTCEe .
A from |1__l1|.d+u-.r of —p fh-| -
=rs - S| 1Tl
Community HII’IJI ]

LA 224) 153153 Pty — ﬂ“!["mmﬂmﬂm
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63. Originally who developed the concept of
Transactional Analysis'?
(@) Joseph Luft (B) Eric Berne
(€) Harrington Ingham (d) None of the above
B4. Which one of the following is not a psychological
barrier in communication?
(@) Bodily expressed

(b)Y Premature

message evaluation
(€} Distrust in {d) Inattention
communication

B5. |n the communication model, the process of
putting the ideas into a message is known as -
(a) Persuasion (B) Encoding

b5

(€} Decoding {d) Interference

6. Arrange the following elements of |66
communication prntess in co *-;_‘ sm:e - ':
(1) Source F G |
(2) Channel ol |
(3) Receiver i
(4) Message & :
(5) Feedback
(6) Noise _ ﬁ
(@ 1,423,865 (b) 1,2,3,4,5,6 1

(€) 1,3,4,2,6,5 () 4,5,6,1,2,3 :

&7
§7. Which one of the following is NOT a component |
stening? .
?:}Hsﬂnslni (b) Evaluating
- i {d} parsuasion
{c) Responding »

. paralanguage is related to -

(@) Interpersonal skills (b) Verbal

communication.
: (d) pownward :
el ;ﬁiﬁ:lﬂinﬂ communication

e e L e 'i-"ﬁl'lg to Mani:‘-h;
69. Shyam friend of Ram. PO .
- : ram, who is he? Ram said, “His son

sked :
i planish is related to Ram as

"
is my 55[‘1’5 UnEIE '

{a) Father

(c) Grandfather
70. 1f on 31" March, 2008 is Monday,
on 31* narch, 20117

(bl Father-in-law
(d) Brother

then what day

ghajioe day (b) Tuesday
iﬁ 51_:';@3? (d) Saturday
&

g Page Dol g

A-2-24 15311}2‘ T

83, ‘waraen favedor

B4,
|

e wiEar & mefafEn 9l B qE!

B

0. afx 31979, 2008 T Wi

e Gk faer
frefe faare

(a) SR T

(c) #fE §E
foyrerferfiaa A @ GG
are el 87 _

) w e T @ @ (b) WA 2 o HeHT

el

(o) e # sfaeErd () ay=TeaElr=T
iy et B, fAT Bt el ¥ =rerT @ wEndl
1I;1 e w9 | 9l T '-I_Tr'- -

(@) arga (b) Hepai e vl

-.-_~-I G oo {d) ?1!_,.:';._”':

(c) arejdl "
ayafter #ifeg —
(1) &=

(2) Ared

(3) wrTE

(4) =TT

(5) wfrgfte

(6) 1%

{ﬂ.} 1‘,4‘ 2‘ 3’ E’ g
i€} 1,3,4,2,6,5

(b) 1,2,3,4,5,6
(d) 4,5,6,1,2,3

- Fre=rferfes 4 9 F9 w@w @1 aq e 87
(8) T (b) Ferich=
(e} wferferan @ (d) s

UNTHIET (TRTH o) Hafee &
(8) s dufdas e () TR Wi o
7 L

() SarfEer wo=or 9

(d) eI e 9

T ¥ WA | S siw gemr ev Bw
W A I W 9T B 98 w9 27w % e
'E'ﬂ'tﬁlllaiﬂ RARC A IRC B A Ll et
T g 7

(b) TR

(e} g8 (o)

1 B R B & 4 319, 2011
(@) ¥faum (b)
““’m (d) oiffaw

 TUITAY
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71. Which one of the following years will have the

.
same calender as of 20097 m\i‘nf f ad &1 deise o 2000 71 e
(a) 2014 ib) 7015 (a) 201&
(¢} 2016 (d) 2017 ®) 2016 {b) 2015
72. Refer to the statements given below = T2, 2017

P et o vk & L

. All boys are truthful. 1.3 AT e §)

il Kamal is boy. I, Fe et R
Conclusion = (1) i a8 8
(1) Kamal is truthful,

(2) o wemad) ares

qFy - s

M BT ()R 8 () Fe (2) R

(¢) (1) e (2) 510 | (0 7 A (1),7 @ (2)

correct g el 2

3. ues B w1-wfar @ gwEw 2 9w 3 fve g @
3 At @), A § 249 5 e s #
=5 w8 A 9 TRy #a R
(@) HrHR ms 1043 (b) HHar gas 8
(¢) HrerEr e 24w () FreER Y98 6 T

74 Gt wEw 6 wem 16 4 ® 9F ey 12 T

{2} All truthful persons are boys.
Select the correct answer using the code -
(&) Only (1) is correct  (b) Only (2% correct
(c) (1) and (2) both are () Neither (17" (2) s
correct
. There is a clock, that is 3 minutes late on sunday
at 2 p.m. and it is 5 minutes fast on Tuesday 6n
2 p.m., when did the clock show the right time?
(a) Monday 10 am.  (b) Monday &a.m.
- [e) Tuesday 2a.m. (d) Tuesday 6 a.m.
1% mmhﬁpntl-qat is there between B and 16,

 remains the same between 12 and .- S
(a) 23 (6) 29 (a) 23 (b} 29
ic) 34 (d} 42 A 34 {d) 42
75. This Is a number series given below. What will be 75 i ofw sjEen &) T & | THH JA D D
the next number in the series? BT
.05 8 17 38 0,5 8, 17, 24, it
(a} 37 (b} 35 (@) 37 (b} 35
e) 33 @ 31 ©) 33 (@ 31
76. statement : College students should be 16, o - o @ BT @ e TRk |
© restricted from participating in art S S R e o e
political activities.

T L - (1) &, o @ DT B AT oeTE 9Y &
Argument : (1} Yes, college students shouild l

A 2341 153102

concentrate on studies.

{11} Yes, colleges are becoming battle
ground for political parties.
Select the correct answer -
(8} Only argument | 15
strong

b} Only argument |l is

strong
e} Meither | nor Il is

strang

(d) Both 1 and Il are
strong

1 Ay |
(1) =, e FreTE get @ forg W
fae o o W B
St TR B AU B -
(@) Bt T | v & (B) T - || v
= & | afm A0 @ 2t (g || WA 8
yad &

_PHE:_IIH_I_H__ === =l _\mmmlﬂmmmmﬂl

.,M



7.
rrange the following words in the meaningful 77 prfrferd i

manner —

mﬂﬁﬂﬂ?ﬁf‘l‘ﬁmﬁ

(1) Train sty # -
(2) car (1) ¥
(3) Cycle (2)28
(4) Bus (3 rdfhet
(&) ad
tﬁ" 13‘! i.r i:q‘ {b] 3- 2‘, 4. 1 E:]] 1 1 3 a Asl 2’; '4!
78. An .r : '? @1,3,4,2 {::J-g:; 1:2 {dJ L3;4!2 'ﬁ
: uj is facing North-East. He turned 90° in the 7 e aere—yd 4 s B dF éfr
_ ﬂdﬁw vise direction, then 180° in the o 31 7T Y 180° et & :‘W'_ﬁ ET
----'F"‘_'.'“.mwu' B e St e ® T R faair @ I
1Is he facing now? Fo e @ :
(5 North— West {a} "'ﬁ‘"l VT M EEGEE EER
L L (N em-w P
'a-maﬁumjﬂhtﬂﬂ number from the given 79 f&T 7Y el U Hafee  HE Bl T
B R g =
) an o 4:17::7:7
tnl '-ili“- 2 50 (a) 48 ) 50
i (a9, (©) 51 (d) 43
ml‘l‘l".'ttalternathrefmm ﬂ'le?ﬁﬁaming_ 80. Eretfafiag A | Uwl Res &1 93 EH Iy

7 :: Bicycle : Unicycle

L) - (b) pedal
{c} Mirror (d) Face

81. Who has said, ‘Decision making involves
evaluating alternatives and making choices
among them.'?
{a) Rathus (b} Santrock
(c) Baron {d) Matlin

82. |nductive reasoningis hased on -

(a) specific to general  (®) Eenemitu'mg%ﬁ
prlnr.iplﬁ principle

(©) Both type principles (@) None of these
83. Algorithm is a type of -

{a) Mechanical solution ) Heurlstics
(c) Rule of thumb (d) peans-end analysts
84. punctional fixedness DrOQUCES i iisianss

problem solving process:
{a) Faclilitation (b) Blocking
(d) No effect

{c) partial facilitation

i;‘fi'j 153102

Pl

quey - 7 o WER ¢ YATHER
(a) #r 1R (b) e
) A (d) FEwr

31%'5#?@1 ﬁuﬁ:ﬁ'mmwﬁﬂ :
T T g e 27

(@) very (b} T
lc) Fe () Aefom

& - :
 ATEATAT o st 2
(a) e o
faf ._T'-'r_ H by TRy & fafime
Frgia us 2l =
Al e HaET U
A e & Rrgie (o) e @

LAY

HIH
i
el
B3, wenfer us g &

B WG s w

(b} 3aq;

) M Ragepegor




PR L -
ab,2q 18,29,%0, B
85. |f a subject attempts to solve a problem on the

basis of his past experience, it is called -
{b) Confirmation bias

(d) None of these
her is tried

{a) Transfer effect
(c) Mental set

86. For one possible solution after anot
unthl a successful one is found, is called -
(@) Insight (b) Guess
(&) Trial and Error (d) None of these
87, Which one of the following is not used by the
people asa method of problem solving?
W autes. - ) Algoritams
- (® Trialand Error {d) Functional Fixedness
B8. Which one of the following methods of problems
MMMWMNﬁumﬁ?

(@) Heuristics method  (b) Algorithms method
(¢) Backward method  (d) Planning method
+89. Which type of problem was used by Kohler in

problem solving?

e (d) None of these
90. Which problem task is not used in animal subjects
among following?
13} Puzzle box
&) Anagrams

(8) Detour problem
ld) Double
prablem
1. Find the missing number in the following -
23,4, 6/6,9, 81210 ... .. .12, 18,14, 1
16,24 ; i

alternation

chi (d) 16
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94. Choose the number pai
from others -
{2) 8:25

(b} 22:67
{c} 18:73

(d) 15:46
A and B are brother and sister respectively, C s

father of A, D is sister of C and E is mother of D,
then how is B related to E?

(@) Grand daughter

85,

(b) Great Grand
daughter

(€) Aunt (d) Daughter

96,
is written as 10, then what will be the

PD
in the same code language? -
(a) 12 () 9 o

- A train of length 140 m is running at a speed of
60 km/hr and a cat is running in the same
direction parallel to the train at a speed of

18 kmy/hr. The train will n'm
e mucunds {b) 11

)

t/group which is different) 94, s /T W g m‘: o= & e 8 o c%,

If in any code language, LC is written as & 2o TE:

w\@@

(a) 8:25 (b) 22:67
\Qn 18:73 (d) 15:46
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